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JI§ iz K E3 3l = # &t | Total(Out/In) | Total(Out/In)
1 WFE k& O ® *x 258 151 | 70 (35/35) | 81 (39/42)
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2 BHEH OEE O | KX ESH 151 | 76 (38/38) | 75 (36/39)
3 & EEBE O | X 238 156 | 80 (38/42) | 76 (41/35)
4 EH YD QEmEAVEHE — 159 | 80 (40/40) | 79 (39/40)
5 AMHE £E Q|4 | * ESHK| 162 | 85 (43/42) | 77 (39/38)
6 FE BFX O|diEm = E 4% S| 168 | 89 (40/49) [ 79 (39/40)
7 EAR K EWQIitBEMSEESHK 176 | 83 (39/44) | 93 (48/45)
8 KaE m&/E O I BE BERK 178 | 94 (47/47) | 84 (40/44)
9 BB ORAE Qi | OB OBEER 179 | 91 (44/47) | 88 (46/42)
10 fI & Rk 2B QB EmEFE SK| 193 | 96 (51/45) | 97 (49/48)
11 Bt A REQIE NI BE B B[ 200 | 95 (45/50) [105 (46/59)
12 FE Im# Ol L K KBS 214 [108 (52/56) [106 (54/52)
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